/ \ I‘\,I \ //tec hnology
(AN FERRARI 575 GTC

11.1 COPERCHIO DEL CAMBIO Tav 1/2

Descrizione

Rack assembly

Gearchenge HSG dressed
assy

Ratchet housing

Fork pin reverse

Potentiometer drive pin

Support pin (ratchet
assembly)

Ratchet housing

Selector fork reverse

‘
Olo(N| ojlu|dlw| N~|e
7S

Reverse idler gear

10 |Ratchet pawl

11 |Stop/ Guide plate - late lift

12 |Pin — Barrel / pot drive

13 |Fork pin

14 |Dowel (3,0x6,0)

15 | 325 -Deg potentiometer -
blue lead

16 |Lee plug plgm 0400010 (4
mm)

17 |Roll pin —= dia (2,0 x 12,0)

18 |Spial pin - 5,0x 12 LG

19 |Circlip 2300-22

23

20 |Snap ring (M2300-0240)

NG

X 7,(\4“

21 |Criclip — D1300 - 0240

22 | Criclip - D1300 - 0470

23 |Spring - LC026B-7MW

24 | Grub screw M12x12

25 |Washer M4 tensilok

26 |Knut

27 |Knut 3/8 - UNF

28 |MB K-Nut

29 |Screw CSK SHCS - 4"UNF x
5/8"

30 |Ball bearing - 61802

31 |[K 18 x 22 x1 3 Needle roller

32 |PDR Seal 35 x47 x7 CW

33 |O Ring viton

34 |Stud - M6 x 1 - Reduced
shank

SHT | OF 2

Release 1.0 del 23-01-04 Pagina 54



/)'\;\//technology

FERRARI 575 GTC

11.2 COPERCHIO DEL CAMBIO Tav 2/2

I7aIN

SECTION A_A

.
=

R

SECTION C—-C
gﬁ
Nw& | | —
L/ s |
G e A1 »
: C W DT> 3 W
N\ --

1

[

secTion D=D

Pagina 55

Release 1.0 del 23-01-04



FERRARI 575 GTC

INSIEME INGRANAGGI Tav 1/2

/ technology
I\

11.3

1766

secion A=A

PR e

VAV

ig2. 7

SECTION E - E

T

Pagina 56

Release 1.0 del 23-01-04



\V/
/)\\/t seri FERRARI 575 GTC

11.4 INSIEME INGRANAGGI Tav 2/2

v

Descrizione

0]

Cluster HSG dressed assy

Reverse plunger assembly

Selector rail assembly

Mainshaft assembly

Layshaft assy

Bush/rail selector fork

Barrel

Bearing clamp

Oil baffle

Bearing spacer - (40 I/D)

Snap ring (M2300-0240)

Washer — M5 tensilock

M6 Schnorr washer14

M5 - K-nut

M6 - K-nut

Ball BRG 61808

Roller bearing - NJ207ECP

Roller bearing 40x80x18 IN

Bearing spacer - (40 I/D)

NRRRRRRRRRR
olvlm|Nlo|u|rlwN|R|o9R N VA IWNI-IO

Nut - Gearchange barrel
(M40)

N
=

Slug. Bearing retention

Release 1.0 del 23-01-04 Pagina 57



/Jx ‘\"-. I"‘\.‘//tec hnology

FERRARI 575 GTC

11.5 ALBERO PRIMARIO DEL CAMBIO

/ //KJE%ZSEEL\
TIGHTEN MAINSHAFT NUT (195-422-0024) / !

TO [36Nm AFTER OILING THREAD USING

MAINSHAFT BARREL SOCKET (195-499-0044A) / /

g [
- @3 @

3

ORIVEN FACE =

DRIVING FACE /

DOG ENGAGEMENT VIEW

DOG RING

SCALE 1:1

section A—A
|SY 3RD 5TN
DIRECTION OF
E ROTATION
v
\ DRIVING FACE

DIRECTION OF ROTATION
(DRIVEN)

Pos | Descrizione

2 |Reverse gear mainshaft

3 |Mainshaft

4 |Dog ring (4,0mm - 5 Deg)

5 |Mainshaft barrel socket

6 |Inner track - Mainshaft

7 |Hub - 1st/2nd 3rd/4th

8 |Locking ring - Mainshaft

9 [Nt mainshaft (M40x1,25 RH)
10 |Locking washer - Mainshaft

11 [Circlip D1400-52

12 [Circlip D1400-47

13 |K needle roller 50x55x20

14 |Mainshaft gear Vv Z=24
15 |Mainshaft gear vV Z=20
16 |Mainshaft gear ITI Z=24
17 |Mainshaft gear VI Z=28
18 |Mainshaft gear I1 Z=29
19 |Mainshaft gear I Z=31

Release 1.0 del 23-01-04

Pagina 58




\V/
/)\3\/t seri FERRARI 575 GTC

11.6 ALBERO SECONDARIO DEL CAMBIO

Pos | Descrizione
1 |Reverse gera layshaft
6
n o @ ®\ Q\ @ G 2 [Laysahft 13: (31)
2 ) - \ 3 |Laysahft gear
\ § 4 |Laysahft gear
\ —~ 5 |Laysahft gear
\'7 Dz 77 A 1 ' - 6 |Laysahft gear
f 7 |Laysahft gear
- - 8 |Inneg track (NJ207)
K 9 |Layshaft spacer
< z 77T 77 A =
= W/ (grunnuning <XV, N ~ Y /LI 7 % 10 LaYShaft spacer
] — N\\77% \ // \Lj/gj 11 |Snap ring - M1700 - 0240
—__J 12 [Circlip - D1400 - 33
section A—A Q}/ A —

Release 1.0 del 23-01-04 Pagina 59



/ \ I‘\,I \ //tec hnology
(AN FERRARI 575 GTC

11.7 GIA SU MANUALE

Release 1.0 del 23-01-04 Pagina 60



/ \ I‘\,I \ //tec hnology
(AN FERRARI 575 GTC

11.8 GIA SU MANUALE

Release 1.0 del 23-01-04 Pagina 61



/ //tec hnology
[A\' FERRARI 575 GTC

11.9 NOTTOLINO DI BLOCCO DELLA RETROMARCIA

Pos | Descrizione
1 ]10-32 UNF K-Nut
@ 2 |Detent plunger housting
3 |Reverse plunger
4 |Detent lift lever
5 |Detent spring seat
6 |D1500-0019 ‘E’ circlip
7 |Spring - Detent plunger
% 8 |Boot - Fear change
s__\,.’ 9 |0-Ring (206-017-9775)
e 10 |Pivot pin
\‘
F
SECURE BOOT TO HOUSING USING N
A TIE WRAP STYLE FASTENING /3
secTion A —A %
Y
S
Q)

1
1
[
4R ) i
N | | NY 7
- - PRy T — ———————mm%&&l———————— - e w— %%%Z
o/ |
nN ‘

secTioN B—B

Release 1.0 del 23-01-04 Pagina 62



/ \ \'\, .I"\.‘//tec hnology
(AN FERRARI 575 GTC

11.10 CAVO COMANDO NOTTOLINO

v

Descrizione

()]

Cable guide

Circlip - D1400-B

Dowel

Cable end

Connector slug

Spring clip

NoOu|h|wWN -0

Cable housing

INNER CABLE LENGTH APPROX.

AN 311.0

SECTION A=A

Release 1.0 del 23-01-04 Pagina 63



/ //tec hnology
[A\' FERRARI 575 GTC

11.11 FLANGIA DELLA FRIZIONE

v

Descrizione

()]

Clutch mouting flange

Sleeve - seal

Lock nut

Lock ring

Circlip D1300-0370

Circlip D1400-0420

Washer M6 form A

M6 K-Nut

M6x45 Socket cap srew

Inner track

61904-2RS Ball bearing

PDR Seal CCW (54x68x7)

PDR Seal CW (54x68x7)

=
ol lBle(oNjo|u|hwiNi+|o

O Ring 204—045-9775

N (13) PACK WITH KLUBER GREASE
TOPAS NB 152
TORQUE TO 136Nm / 100Ibf.Fi
LIGHT OIL
b
I by

SECTION A-A

Release 1.0 del 23-01-04 Pagina 64



/ \ I‘\,I \ //tec hnology
(AN FERRARI 575 GTC

11.12 POMPA DELL'OLIO

Descrizione

()]

Pump alternator

Oli pump body

Oli pump lid

Outer rotor 9mm wide

Inner rotor 9mm wide

Circlip D1300-72

External circlip D1400-0170

Washer M5 tensilock

olo|Nou|rw|Ni~|o

M5 K-nut

10 [SHCS M5x14

11 |Glacier bearing L1112

12 |Roller bearing NUP207ECP

13 |O Ring 204-048-9775

14 |Slug bearing retention

Release 1.0 del 23-01-04 Pagina 65



FERRARI 575 GTC

A

| .//tec hnology

11

4

11.13 CAMPANA MONTAGGIO FRIZIONE

2
e}
£ a
©
ol = 8
| -
5 © O o w
el 2 |5 0}
e <o), |<
0l glo —alsl =B 7
0Ol |c s —| O O |a
) VSlagy |O Qlo|lc|® [(InV| TV
() cl | = o — o
- | © V'n S £ cl 1|+ )] 0n|l.=
— o o 5| X o 35
.E.KcladU C ..LF_AFNO_.DOOg
rUhIO ] eeo_e_7813
O 50| ||| X 50 Ly X| X| X| X| @
0 Ols c =6 5le Q5 no v los s S a
Vnl32o09 3580 08N-Ooo - dm
Q|<|O|0laja|n|ann === =|=|=|=|=|0
7]
Ol N|M| ||V
N123456789111111111

SECTION A=A

Pagina 66

Release 1.0 del 23-01-04



